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4Ca Setting r a where a is a fixed constant
corresponds to taking a horizontal slice of S given by
Lua u a which is a line so the first and fourth
options are out The second option is out because the
X axis y z o intersects 5 only at the origin

6 a Since 2 EO posy EO so cosof EO hence
th Ed ETI Since EO fSindcosa EO Since
sing 20 this is always true we must have cosoEO

i e 412 EO E 3112 finally OE f E 2 follows from
2f 421 22 E 4

6 b In polar coordinates dV fZsing dedoldo Since

2 ecosd we have ZdV Hsiaocosof dpdpdf



This is the plane x y in the region
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